N3G R25t (ollh e Problems #1,3 15,25

0 3= £ -t bk

SO =3V 2%t + 2L

P8 = ot -2

a) VQ\DC\\’\L LS ~\—h4d _\SY Aexwo:\\\/c,_& DSV

v = £'(6) = AEZ - 94t + 3d

b v(3)= %przt{(a)i‘ab" Ala) - ?Z+5u”}"q %ﬁ\

<) S(Jc) O 1S \Q\\QJ\ e ’Dar'\\d& \S cc\‘ (e§¥

MOEVOE A28 +12) = 3 (- §-2) = O

When T’c— b or 2%£a

Cﬂ MO N 1N O DOS‘H';\IQ.d\re.Ch O e \te,\oc,ﬁ\,n 1S DD%\)r\\/e,

\!’(t)’%g({\ = 3k- Yt-2) > O 1>6 ond 172 = i‘{;> &3 l
and

4 and £<2 = t<24044)

- Q—) J\'D*a\ c\\s\ance, Adurine C\Pﬁ%¥ 8 Sed,

5&(2)’4(0) + f(*@ L + ﬁ(s) 2 1()

XZ D(l ) "3&2\““ *L-\‘%(g)ﬁw) [521 \ + J u

£ \z2l =« \52\*% 28+ 3R~ 6

-

= |22 v \-32) + \m| =362) :|qe B

)
426 S
U hallain - } R A
t t
=0 =2
OS¢ I=32

3\ QCce\erod‘ton ot time t s Second derivaiive, o Dos\h\ah

(detincdve of veloany)

)= (o =L"() = 624

Gl \ev o on o 38t

\

0(3)= 63 =29 = 1620 -]




ézx 0737 _(alob ¥

S =6k 24 =0 = -4

[U“ @ (s,32)

Cr )]
\<1® j
/\V&.) s

(.O 0.
' \ >-

|
u,P) 9 ‘_‘L‘" P ) ('L"

v
(24, 0)

) Por\'\g\e qoeec\a up wheny VO s 9@5\*\\:@ ¢ \ncreasing (ko) is \m&\\@

Vg h%o?r\\re ¢ deccensotd (o) s nuq&m)

(2 4)  vl&) nesative ¥ c\cumsw\ (ak) ea)

(\ (o ‘3) v(E) Dﬁgt;\t\\lt < \ncreasmb Ca@a pog*\vc\

Yackidle gowe downy winen sans ol a® ¥ (b are mesﬁr&

CD 2\ v(t) oos\‘n\:e. £ cﬁt\ V\o:,c\a\“\\'c.

(‘4\ L) V€9 ne,f\)mk\& 4 6(X%) Dcsﬁn\rb

(q') T\'\ﬂ D%\‘h on ‘C(‘ﬁ\ ‘D£ - Dacticle (AN?Y\ \DV

S= £ -uSE-R | tzo
N S T

®) When does nardicle. teach velocihy 08 Smys

'aPoGE-7=5 > 3P-GE-12=03(-3%4)=0
’ 23k D) =0

= deec) =y or t=-|
| .

eﬁr&hwus

&") When s accelerad ion Q

S b-9 =0 > b= 1= s

E

T\r\e S\C.‘mg\( anee ?

ok positien
This e an \r\g\eénoﬁ oomﬂ T s 3r‘ne >o it where

Y Ceatnes \\'S (\.’\s \ Vo v e\oc\ (PGS

Labsolw



\ 3% 3.2 ?30\ amg

VAT AGY = X N = 2x

QD Al

X / AOD) = 205) =30 mm, T\r\e area. chonees by,

N 20 g sty

\QXY}(\(\ S A\

@T\r\e P=Ux % Z-Udx=2x & A= )

The area of the Q&c\ure. obave changes, Sromm  AX) \7\1

+\ne Nereanse. Oft %\NZL %\\a&cd C cc\\oﬁ)a Yhow i s X C\f\cmi)es

b\, K o ld \Nevee “Qe_ AA

Tous w2+ 2(xen) + (Ax)

G other VN of \oo\'.ms okt s AL = xz \S O\c\ avec.

NS

) ra
A%‘f( ) = (X+An) s new oven

AA= ew = old

= [+ A% A= X2 = IxAx+(AXY

L eVher NNT-\V1

AD = IxAx + (AR

bnd 5/ AX & very amedl, (Ax) =0
Y s J )

AAxIx Ax ¢ sdung DA, 2%

L °AX

@ //ﬂ\\ ar A=Ye? ABD _ QT

e ]

Wl i Ar

e i &) when r= \H AA - (D = 81 ‘f’(z/ﬂ

1

DY

B when r=28t  AA - (@ =lew Na
Ji\s

) whex €= 24} AA . 81(3) - M W/{x
Ny

Notice Phokr Ve, ohenge ' Area wet fodius s ¢ linear

%LV\C“Y\OY\ ‘\'\r\ere‘slor‘e. %BT e\;ex\: (\30‘\‘ LN CCeGSe N \(‘de\us

the, P\rec\ Q)f\m\c:)es (nerea <03 \D\l % f1*



Call Mo 8§31 b 23 cond

\)(QD = N \"t ce DL S

1%::} 3 Th; (‘o.*\oug e Dopulaiidn

Yo e old 1e 3 wheh £=)

2=¢r' = ¢=3

20 P-4 T

o |

thus

P'l) = YOOT 1n 3

and heretore M ale o C\r\cmoe. (a(owhn\ e DQDUx\Olhbn Gfler

25hours s

<
£

~ R25) = 400 3 Ind = (85023286 6850 %




